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EXAMINATION 1 — ANSWERS & SOLUTIONS : -
Question 1. Question 2
TIONS ay &(1) = cost —+/3sint a)t=2, P=484
1. B 17. A 23. E b) Turning paints when ¢'(f) = 0, _ WE-E
. D 13. D 4. A : T nr=10 -1
1A 13 E =B cose = +/Isint, tant ==, = ¢) 1 =10° - 1="2.98 ~ 3months
4. C 15. D 26. B
5 E 6.8 17. C ) T I d) 107 =x, log,(107) = log, x
6. D 17. A 28. E Coordinates AN,NV, A.Mﬁ.Mv vlog, 10 =log, x = result
7. E 18. D 19. E
5 D 9.4 0. A e) (0,¥3) a__ 1
ar m wm w i ww M _ : d) 1 —intercepts occur whenc(r) = 0, ds xlog,10
10. . g . P -
1. B [72. 8 3. A _ - L2z 5z 3&|n%|m||
tant = -3, £ ===~ d  (l+0log,10
SECTION B: SHORT ANSWER QUESTIONS e ) .
e mnmoﬁvmm\a. - bela £) whent = N_mmn T
QUESTION 1 QUESTION 4 , H A= amplitude = 2 dt
7i{-=,21 > & where fiy =2+ J3-x Pfny= - ( 2n° =900 ) = -2n" +900n B=1 is reduci
al Sketch the function fand the inverse function { ' . ) C=n/6 P is reducing by $2170 per month afier 2 months.
2} For maximum ao. of employees P'fn )= 0 g} (= 1.17
- P'in )= -6m" + 900 Iving 1 = o %
fox 60> +900=0 | g) solving 1= Zeoslt =), K} ¢ = 5.3 Lmonths
900 . U
_ n =g = 225ie 12 employees. = m% i) Total bprofit = ?& =21.23 .ie.$21,230.
L—\ % 0
b) Domain of ffx): { —=3] s b) Maximum profit = P12 } 2
Range of /1)~ [ 2.20) = 2(12) +900(12) k) 3
¢) Domain cm.\\{k‘ 1[20) =$73144
Rule of \Lﬁk\. : ) 4
N =
/e R E_._nnn\‘.‘xin.\x.m._hfw T
QUESTION 2 QUESTION § _ _
Find T . J_‘_m +2cos2x=0-r<x< l Mean value x =7.15am Question 3 Ocmmg._c_._ 4
_a e Standard deviation & = 5 minutes a) i}y $533.33 8
cas lx= —— , wherecos — = . . ) ) :v $300 bum
2 6 2 Probability that Poppy’s tram will arrive at 8000
4 solutions {— 27 € 2x < 2} == HMH.H%.WM.L_ qﬂ:. least wa\a.._hssmm_ﬂﬁ__nn . n<20 SWM o
s | g 05 BYC ={ 400,20<n<30 }neN e% ’
TRz ENA&"H.M%N%VSE 700-10n, 30 <n <50 3 0.067 .
=1-0. =0. 1) X e
QUESTION 3 QUESTION 6 ..
o 2x X-Bifn=5 p=0.60 ¢) 30 +x i) 0.061
Derivative of log(x’-2) = ( P )
21-2 g=l-p=1-0.60=0.40 AR = n(700—10m) = (x +30)(400 - 10x) iii) 0.988 /
Therefore | 6x dr = u_Om.Tu _ Nv Probability that out of 5 people chosen at R = 12000+ 100x - 10x* d) 108.42 ) k o
nu -2 Eﬂo‘ﬂﬂ _nlnmn 1 i__w\_unx_m favour of the GST: mvh e [0,201 andxe N €) L\ -
Pr{X 21) = - Pe (X =0} 4R i) 0.871
Pr CmucT,ﬁi“ﬁano.ac,umumﬂoo_ %uMuou_ooimoaUHum iy 0.129
32 3093 Thus 35 passengers maximises R, the receipts.

pe(X z1)=1 = — =099
3125 3125 ] g) R comtains poirits on a negative quadratic

function and so R achieves a maximum.
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